
 90 

S.S. Pipe n°1272
P/N 303395201 

S.S. Muffler
P/N 309736484U 

Screw
M8x50
P/N 200461 

Alu Spacer
Ø27 Ø8,5
P/N 204321 

Short Spring
P/N 303949001 

2x Flange Nuts M8
P/N 200298 

Carbon Clamp
P/N 303396501 

Carbon Bracket
P/N 0814314004 

Screw
M8x20
P/N 200722 Alu Spacer

Ø22 Ø8,5
P/N 205090 

X

X

XX

S.S. Clamp Ø45
P/N 300045530 

dB-Killer Ø25
P/N 303457801 

Screw
M5x6
P/N 201044 

X  Only on CB 500 > 2021 versions

ART. 3395EBU

HONDA CB 500F / CBR 500R / CB 500X 
(fits with original centre stand)

SLIP-ON   GP CORSA   BLACK EDITION 


	DT-3395EBU
	Vista del disegno10
	Vista del disegno11


